 Name: ___________________  

	Chapter 4: Mass Temperature, and Volume
Review


Show your work for full marks!

1. Convert the following temperatures to degrees Fahrenheit or degrees Celsius.

(a) 55⁰C

(b) -30⁰C

(c) 185⁰C

(d) -4⁰C

(e) 10⁰F

(f) 100⁰F

(g) -15⁰F
(h) 450⁰F

2. Nancy keeps the temperature in a polar bear tank within a degree of 13 ⁰C. What is the temperature in degrees Fahrenheit?

3. Calculate the conversions.

(a) 26 oz = __________ lb

(b) 58 oz = ______ lb ____ oz

(c) 2.4 tn = __________ lb

(d) 456 oz = _____lb ____ oz

(e) 5 lb 3 oz = _________ oz

(f) 6540 lb = ________ tn

4. Tony buys 7 pounds 12 ounces of blueberries at $2.25/lb. What is his true cost per pound if 15% of the berries rot before he uses them?

5. Tammy bought 6 bags of cat food, each weighing 18 lb, for $12.85/bag. One bag ripped and she lost all the cat food. What is her true price per pound of cat food?

6. Convert the following weights.

(a) 4.5 kg = _____________ g

(b) 345 g ______________ kg

(c) 3.4 t = _____________ kg


(d) 2 t = ___________ lb

(e) 3.2 tn = ____________ kg

(f) 3000 kg = ___________ tn

7. How much does 1 pound 12 ounces of chicken cost if the butcher shop sells it for $12.65/kg?

8. What is the total weight in grams of 4 packages of pecan weighing 1.1 kg, 0.85 kg, 1.3 kg, and 1.7kg?

9. Lee bought 8 boxes of tile that weigh 124 pounds each. How much is this in kilograms?

10. Nick bought 8 bushels of canola. If the conversion factor is 42.908 bushels/tonne, what is the weight if the canola:

a. in kilograms?

b. in pounds?

11. If Sophia get $175.45 per metric ton for wheat, how much does he earn per bushel (conversion factor 35.433 bu/t)?

12. Wheat has a conversion factor of 44.354 bu/t. How much do 38 bushels weigh

13. How many hectares are there in a field that is 820 m by 460 m? Recall that a hectare (ha) is 10 000 square metres.
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Hint:


t = tonne


tn = ton








